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1. F5AER Mycobacterium tuberculosis N HE?
(AFMBEEEE & Mycolic acid (B)F 1t E R f2 40 & I M RER B
(CMAERPEN D HER (D) RTEMHRIE R

2. MREMERESRNIERF, FoHTEER?
a.lodine 8, b.Safranin 1, c.fif, d.EE, e.Crystal violet &
(A) daecb (B) dbcae (C) deacb (D) dbcea

3. BRMRNEEE , TISRMAEIERE?
(AFTEMRESEEE B)EESEHEEH
(C)HHEBEIEA R (DYXEERNEE B FTER

4. PR —BRERNETEEABSRODHEEMREESR?
(A)Penicillin (B)Quinolone (C)Polymyxin (D)Tetracycline

5 FAEMEN KE O RFENE?
(A)Capsule & LPS (B) Flagella & LPS (C) Flagella & Capsule (D) A &3k

6. THIH—REMEMN Acid-fast stain /AR Positive?
(A) Staphyiococcus (B) Nocardia (C)Listeria (D)A LE =

7. FHAEAEERRAF EEBRA?

(A)Listeria monocytogenes  (B)Corynebacterium diphtheriae

(C)Neisseria gonorrhoeae (D) Erysipelothrix rhusiopathiae
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8. TREMMEAREERBHE (influenza virus):

(A) Transformation;
(B) Transposon,
(C) Reverse genetics;

(DYBL & AT

9. TRESMEEERABEMEERRS:

(A) B BIFF#985F (Hepatitis B virus);

(B)F@iA#E (Enterovirus);

(OABERBEHZHEE (Human immunodeficiency virus);
DYAFIZHEF (Human papillomavirus)

10.Acyclovir ERAARA MNP HE BN ZENATRMERSER:
(A) Thymidine kinase; ' .

(B) Terminase;

(C) Glycoprotein D;

(D) ICPO

11. 8RB E Rotavirus) B E ZHEEARE , H Rotarix FF A FTRAELNERK:
(A) Virus-like particle vaccine; _

(B) Live attenuated vaccine;

(C) Inactivated vaccine;

(D) DNA vaccine

2. TRAEFABHEZHES:
(A) Herpesvirus B Virus;

(B) Rabies virus;

(C) Ebola Virus;

DA LERABHBZRE

HEAE %P8 (BEER MEEREL)

13. Describe (A) five ways in which T-cell receptors are similar to immunoglobulins, and (B) five ways in which they are
different (other than the way in which they recognize antigen). (20 points)

14. In the context of autoimmunity: (A) define molecular mimicry; and (B) provide an example. (5 points)

15. What is the sequence of events in a typical immediate hypersensitivity reaction? What is the late-phase reaction, and how is it

caused? (10 points)
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